ME 274 - Fall 2024 - Quiz3A Name__SQ 0TI/

Q1-4points
B moves to the right with a speed of v;.
When 6 < 45°: {\/Az dea wge,
a) v,=0 ( Ve = dea was
b) v,>vg
C) V4=Vpg %;:ﬁ?/(;ﬁ‘9=ﬁ‘b
d) v,<vg v

e) Need to know more about problem.

Q2 Link OA rotates in the CW direction.
Q2.1-4 points

a) wug =CW
b) wsp =0
c) wyg =CCW

d) Need to know more about problem.

Q2.2 -4 points
a) wgg =CW
b) wgg =0
c) wgg = CCW

d) Need to know more about problem.




ME 274 - Fall 2024 - Quiz3B  Name_SOLUTION

Q1-4points
Points A and B are on the same rigid body.
A moves along path shown with speed v,.

a) =0 { a=da W C=TC Q’ path\;f 5
b) vB >V, (’\/5 d%w,q& e

C) Vg=Vyu i

d) Vvg<v,u Ve dec. < |

e) Need to know more about problem.

Q2 Link AB rotates in the CW direction.

Q2.1-4 points E
| @) wpp = CCW
b) wgp =0
c) wgp =CW
d) Need to know more about problem. Vo

=CW/

Q2.2-4 points
b} Wrp — 0

Va

d) Need to know more about problem.
WAB

C) C()ED == CW aﬁj:ccw



